SNS academy -

“»

% an International CBSE Finger Print School BT TInts
Coimbatore

1. Aisha has three ribbons: a yellow one (15 cm), a blue one (10 cm), and a
green one (12 cm).
Questions:

1. Which ribbon is the longest?
2. Which ribbon is the shortest?
3. Arrange the ribbons from shortest to longest.

2. Ravi has 3 toys on a shelf:

e A robot that is 30 cm tall
e A teddy bear that is 25 cm tall

e A dinosaur toy that is 35 cm tall

Questions:

1. Which is the tallest toy?
2. Which is the shortest toy?

3. Arrange the toys in order from tallest to shortest.



3. In class, children measured the table using their hands.

e Meera used 6 hand spans.

e Aarav used 7 hand spans.

Questions:

1. Did Meera and Aarav get the same measurement? Why or why not?
2. Whose hand is likely bigger?

3. Why is it important to use the same tool when measuring?



